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√
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√
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√
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√
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√
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(
√
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√
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√
6
√
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√
6
√
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=
√
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√
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2
≤ sin−1

x
√
2

≤ π

2

なので −π

2
≤ t ≤ π

2
，よって cost ≥ 0 なので，
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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)
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√
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√

6− 3x2 =

√
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(
√
2 sin t
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√
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√
6
√
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√
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√
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√
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√
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√
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1
√
2

=
π

4
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例 定積分
∫

1

0

√
6− 3x2 dx を計算する．

　
√
6− 3x2 は実数なので， 6− 3x2 ≥ 0 ， x2 − 2 ≤ 0 ，

(

x+
√
2
)(

x−
√
2
)

≤

0 ， −
√
2 ≤ x ≤

√
2 ．変数 t を t = sin−1

x
√
2

(

−
√
2 ≤ x ≤

√
2

)

とおく．

sin t = sin

(

sin−1
x
√
2

)

=
x
√
2
なので x =

√
2 sin t ． − π

2
≤ sin−1

x
√
2

≤ π

2

なので −π

2
≤ t ≤ π

2
，よって cost ≥ 0 なので，

√

6− 3x2 =

√

6− 3
(
√
2 sin t

)2
=

√

6− 6 sin2t =
√
6
√

1− sin2t =
√
6
√
cos2t

=
√
6 cos t .

x =
√
2 sin t より

dx
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=

√
2 cost なので dx =

√
2 costdt ． x = 0 のとき

t = sin−10 = 0 ． x = 1 のとき t = sin−1
1
√
2

=
π

4
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∫

1

0

√
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∫

π
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√
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√
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√
3
∫

π
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0
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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√
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π
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√
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√
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√
3
∫

π

4
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√
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1
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√
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π

4
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√
3
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1
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π

4

0

=
√
3
(

π

4
+

1
2
sin

π

2
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=

√
3(π+2)

4
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問7.8.2 定積分
∫

√

3

−1

√
12− 3x2 dx を計算せよ．

　 ≥ 0 なので， ≤ 0 ， (x )(x ) ≤ 0 ， ≤ x ≤ ．変

数 t を t = ( ≤ x ≤ ) とおく． sin t = sin
( )

= なの

で x = ． ≤ t ≤ より cos t 0 なので，
√

12− 3x2 =

x = より
dx

dt
= なので dx = dt ． x = −1 のとき

t = = ． x =
√
3 のとき t = = ．

∫
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−1

√

12− 3x2 dx =
∫

dt =
∫

dt



問7.8.2 定積分
∫

√

3

−1

√
12− 3x2 dx を計算せよ．

　 12− 3x2 ≥ 0 なので， x2 − 4 ≤ 0 ， (x+2)(x− 2) ≤ 0 ， −2 ≤ x ≤ 2 ．変

数 t を t = sin−1 x

2
( −2 ≤ x ≤ 2 ) とおく． sin t = sin

(
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2

)

=
x

2
なの

で x = 2sin t ． −π

2
≤ t ≤ π

2
より cos t ≥ 0 なので，

√
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dx
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√
3 のとき t = = ．

∫
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−1

√
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∫
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∫
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問7.8.2 定積分
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√
12− 3x2 dx を計算せよ．

　 12− 3x2 ≥ 0 なので， x2 − 4 ≤ 0 ， (x+2)(x− 2) ≤ 0 ， −2 ≤ x ≤ 2 ．変

数 t を t = sin−1 x

2
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2
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2
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2
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√
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√
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√
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√
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√
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√
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∫

√

3

−1
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∫
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問7.8.2 定積分
∫

√

3

−1

√
12− 3x2 dx を計算せよ．

　 12− 3x2 ≥ 0 なので， x2 − 4 ≤ 0 ， (x+2)(x− 2) ≤ 0 ， −2 ≤ x ≤ 2 ．変

数 t を t = sin−1 x

2
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2

)

=
x

2
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2
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√
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√
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√
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√

1− sin2t = 2
√
3
√
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√
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例 定積分
∫

3

0

√
16−x2 dx を計算する．



例 定積分
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√
16−x2 dx を計算する．

　
√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+ )(x− ) ≤ 0 ，

≤ x ≤ ．変数 t を t = sin−1 x

4
( −4 ≤ x ≤ 4 ) とおく．



例 定積分
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√
16−x2 dx を計算する．

　
√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+4)(x− 4) ≤ 0 ，

−4 ≤ x ≤ 4 ．変数 t を t = sin−1 x

4
( −4 ≤ x ≤ 4 ) とおく．



例 定積分
∫
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√
16−x2 dx を計算する．

　
√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+4)(x− 4) ≤ 0 ，

−4 ≤ x ≤ 4 ．変数 t を t = sin−1 x ( − ≤ x ≤ ) とおく．



例 定積分
∫
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√
16−x2 dx を計算する．

　
√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+4)(x− 4) ≤ 0 ，

−4 ≤ x ≤ 4 ．変数 t を t = sin−1 x
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4
の値がある．
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)
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4
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例 定積分
∫
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√
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√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+4)(x− 4) ≤ 0 ，

−4 ≤ x ≤ 4 ．変数 t を t = sin−1 x
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例 定積分
∫

3
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√
16−x2 dx を計算する．

　
√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+4)(x− 4) ≤ 0 ，

−4 ≤ x ≤ 4 ．変数 t を t = sin−1 x

4
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sin
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√
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(

4 sin t
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=
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√
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√
cos2t
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例 定積分
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√
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√
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√
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√
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√
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x = 4sint より
dx

dt
= 4cost なので dx = 4cost dt ． x = 0 のとき

t = sin−10 = 0 ． x = 3 のとき t = sin−1 3
4
．



例 定積分
∫
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√
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√
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√
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√
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√
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t = sin−10 = 0 ． x = 3 のとき t = sin−1 3
4
．この式は簡単にできない．



例 定積分
∫

3

0

√
16−x2 dx を計算する．

　
√
16−x2 は実数なので， 16−x2 ≥ 0 ， x2 − 16 ≤ 0 ， (x+4)(x− 4) ≤ 0 ，

−4 ≤ x ≤ 4 ．変数 t を t = sin−1 x

4
( −4 ≤ x ≤ 4 ) とおく． sin t =

sin
(

sin−1 x

4

)

=
x

4
なので x = 4sint ． −π

2
≤ t ≤ π

2
より cost ≥ 0 なので，

√

16−x2 =

√

16−
(

4 sin t
)2

=
√

16− 16 sin2t =
√
16

√

1− sin2t = 4
√
cos2t

= 4cost .

x = 4sint より
dx

dt
= 4cost なので dx = 4cost dt ． x = 0 のとき

t = sin−10 = 0 ． x = 3 のとき t = sin−1 3
4
．

∫

3

0

√

16−x2 dx =
∫

sin
−1 3

4

0
4 cost · 4 costdt = 16

∫

sin
−1 3

4

0
cos2tdt



∫

3

0

√

16−x2 dx =
∫

sin
−1 3

4

0
4 cost · 4 costdt = 16

∫

sin
−1 3

4

0
cos2tdt

= 16

∫

sin
−1 3

4

0

1
2
(1+ cos2t)dt cos2t =

1
2
(1+ cos2t)



∫

3

0

√

16−x2 dx =
∫

sin
−1 3

4

0
4 cost · 4 costdt = 16

∫

sin
−1 3

4

0
cos2tdt

= 16

∫

sin
−1 3

4

0

1
2
(1+ cos2t)dt = 8

∫

sin
−1 3

4

0
(1+ cos2t)dt



∫

3

0

√

16−x2 dx =
∫

sin
−1 3

4

0
4 cost · 4 costdt = 16

∫

sin
−1 3

4

0
cos2tdt

= 16

∫

sin
−1 3

4

0

1
2
(1+ cos2t)dt = 8

∫

sin
−1 3

4

0
(1+ cos2t)dt

= 8

[

t+
sin2t

2

]sin
−1 3

4

0

= 8

{

sin−1 3
4
+

sin
(

2 sin−1 3
4

)

2
− 0

}

= 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.

sin
(

2 sin−1 3
4

)

を計算する．



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.

sin
(

2 sin−1 3
4

)

を計算する．

sin
(

2 sin−1 3
4

)

= 2sin
(

sin−1 3
4

)

cos
(

sin−1 3
4

)

.

sin2a = 2sina cosa



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.

sin
(

2 sin−1 3
4

)

を計算する．

sin
(

2 sin−1 3
4

)

= 2sin
(

sin−1 3
4

)

cos
(

sin−1 3
4

)

.

まず

sin
(

sin−1 3
4

)

=
3
4

.



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.

sin
(

2 sin−1 3
4

)

を計算する．

sin
(

2 sin−1 3
4

)

= 2sin
(

sin−1 3
4

)

cos
(

sin−1 3
4

)

.

まず

sin
(

sin−1 3
4

)

=
3
4

.

更に，

cos2
(

sin−1 3
4

)

= 1− sin2
(

sin−1 3
4

)

= 1−
(

3
4

)2

=
7
16

,



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.

sin
(

2 sin−1 3
4

)

を計算する．

sin
(

2 sin−1 3
4

)

= 2sin
(

sin−1 3
4

)

cos
(

sin−1 3
4

)

.

まず

sin
(

sin−1 3
4

)

=
3
4

.

更に，

cos2
(

sin−1 3
4

)

= 1− sin2
(

sin−1 3
4

)

= 1−
(

3
4

)2

=
7
16

,

−π

2
≤ sin−1 3

4
≤ π

2
より cos

(

sin−1 3
4

)

≥ 0 なので

cos
(

sin−1 3
4

)

=

√

7
16

=

√
7

4
.



∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

.

sin
(

2 sin−1 3
4

)

を計算する．

sin
(

2 sin−1 3
4

)

= 2sin
(

sin−1 3
4

)

cos
(

sin−1 3
4

)

.

まず

sin
(

sin−1 3
4

)

=
3
4

.

更に，

cos2
(

sin−1 3
4

)

= 1− sin2
(

sin−1 3
4

)

= 1−
(

3
4

)2

=
7
16

,

−π

2
≤ sin−1 3

4
≤ π

2
より cos

(

sin−1 3
4

)

≥ 0 なので

cos
(

sin−1 3
4

)

=

√

7
16

=

√
7

4
.

よって

sin
(

2 sin−1 3
4

)

= 2sin
(

sin−1 3
4

)

cos
(

sin−1 3
4

)

= 2 · 3
4
·
√
7

4
=

3
8

√
7 .



故に
∫

3

0

√

16−x2 dx = 8sin−1 3
4
+4sin

(

2 sin−1 3
4

)

= 8sin−1 3
4
+4 · 3

8

√
7

=
3
2

√
7 +8sin−1 3

4
. 終



問7.8.3 定積分
∫

4

0

√
25−x2 dx を計算せよ．

　 ≥ 0 なので， ≤ 0 ， (x+ )(x− ) ≤ 0 ， ≤ x ≤ ．変

数 t を t = ( ≤ x ≤ ) とおく． sin t = sin
( )

= なの

で x = ． ≤ t ≤ より cos t 0 なので，

√

25−x2 =

x = より
dx

dt
= なので dx = dt ． x = 0 のとき

t = = ． x = 4 のとき t = ．

∫

4

0

√

25−x2 dx =
∫

dt =
∫

dt



問7.8.3 定積分
∫

4

0

√
25−x2 dx を計算せよ．

　 25−x2 ≥ 0 なので， x2 − 25 ≤ 0 ， (x+5)(x− 5) ≤ 0 ， −5 ≤ x ≤ 5 ．変

数 t を t = sin−1 x

5
( −5 ≤ x ≤ 5 ) とおく． sin t = sin

(

sin−1 x

5

)

=
x

5
なの

で x = 5sin t ． −π

2
≤ t ≤ π

2
より cos t ≥ 0 なので，

√

25−x2 =

x = より
dx

dt
= なので dx = dt ． x = 0 のとき

t = = ． x = 4 のとき t = ．

∫

4

0

√

25−x2 dx =
∫

dt =
∫

dt



問7.8.3 定積分
∫

4

0

√
25−x2 dx を計算せよ．

　 25−x2 ≥ 0 なので， x2 − 25 ≤ 0 ， (x+5)(x− 5) ≤ 0 ， −5 ≤ x ≤ 5 ．変

数 t を t = sin−1 x

5
( −5 ≤ x ≤ 5 ) とおく． sin t = sin

(

sin−1 x

5

)

=
x

5
なの

で x = 5sin t ． −π

2
≤ t ≤ π

2
より cos t ≥ 0 なので，

√

25−x2 =
√

25− (5 sint)2 =
√

25− 25 sin2t = 5
√

1− sin2t = 5
√
cos2t

= 5cost .

x = より
dx

dt
= なので dx = dt ． x = 0 のとき

t = = ． x = 4 のとき t = ．

∫

4

0

√

25−x2 dx =
∫

dt =
∫

dt



問7.8.3 定積分
∫

4

0

√
25−x2 dx を計算せよ．

　 25−x2 ≥ 0 なので， x2 − 25 ≤ 0 ， (x+5)(x− 5) ≤ 0 ， −5 ≤ x ≤ 5 ．変

数 t を t = sin−1 x

5
( −5 ≤ x ≤ 5 ) とおく． sin t = sin

(

sin−1 x

5

)

=
x

5
なの

で x = 5sin t ． −π

2
≤ t ≤ π

2
より cos t ≥ 0 なので，

√

25−x2 =
√

25− (5 sint)2 =
√

25− 25 sin2t = 5
√

1− sin2t = 5
√
cos2t

= 5cost .

x = 5sint より
dx

dt
= 5cost なので dx = 5cost dt ． x = 0 のとき

t = sin−10 = 0 ． x = 4 のとき t = sin−1 4
5
．

∫

4

0

√

25−x2 dx =
∫

sin
−1 4

5

0
5 cost · 5 costdt = 25

∫

sin
−1 4

5

0
cos2tdt



∫

4

0

√

25−x2 dx =
∫

sin
−1 4

5

0
5 cost · 5 costdt = 25

∫

sin
−1 4

5

0
cos2tdt

= 25

∫

sin
−1 4

5

0

1+ cos2t

2
dt =

25
2

∫

sin
−1 4

5

0
(1+ cos2t)dt

=
25
2

[

t+
1
2
sin2t

]sin
−1 4

5

0

=
25
2

sin−1 4
5
+

25
4

sin
(

2 sin−1 4
5

)

=
25
2

sin−1 4
5
+

25
2

sin
(

sin−1 4
5

)

cos
(

sin−1 4
5

)

.



∫

4

0

√

25−x2 dx =
∫

sin
−1 4

5

0
5 cost · 5 costdt = 25

∫

sin
−1 4

5

0
cos2tdt

= 25

∫

sin
−1 4

5

0

1+ cos2t

2
dt =

25
2

∫

sin
−1 4

5

0
(1+ cos2t)dt

=
25
2

[

t+
1
2
sin2t

]sin
−1 4

5

0

=
25
2

sin−1 4
5
+

25
4

sin
(

2 sin−1 4
5

)

=
25
2

sin−1 4
5
+

25
2

sin
(

sin−1 4
5

)

cos
(

sin−1 4
5

)

.

ここで， sin
(

sin−1 4
5

)

=
4
5
，また，

cos2
(

sin−1 4
5

)

= 1−
{

sin
(

sin−1 4
5

)}2

= 1−
(

4
5

)2

=
9
25

,

−π

2
≤ sin−1 4

5
≤ π

2
より cos

(

sin−1 4
5

)

≥ 0 なので

cos
(

sin−1 4
5

)

=

√

9
25

=
3
5

.



よって

25
2

sin−1 4
5
+

25
2

sin
(

sin−1 4
5

)

cos
(

sin−1 4
5

)

=
25
2

sin−1 4
5
+

25
2

· 4
5
· 3
5

=
25
2

sin−1 4
5
+6 .

故に
∫

4

0

√
25−x2 dx = 6+

25
2

sin−1 4
5
． 終


